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Mr. Schlansky Geometry

Line Dilations Practice

1. The line y =3x—2 is dilated by a scale factor of 2 and centered at the origin. Write an
equation that represents the image of the line after the dilation.

1) y=3x-2

2) y=3x—-4

3) y=6x-2

4) y=6x—-4

2. The line y =3x-2 is dilated by a scale factor of 2 and centered at (-1,-5). Write an equation
that represents the image of the line after the dilation.

1) y=3x-2

2) y=3x—-4

3) y=6x-2

4) y=6x—-4

1
3. The line y = —Ex + 6 is dilated by a scale factor of 4 and centered at (2,5). Write an equation

that represents the image of the line after the dilation.

1
1) y= 2x+6
2)y=—lx+24
2
3) y=—2x+6
4) y=—2x+24

1
4. The line y = —Ex +6 is dilated by a scale factor of 4 and centered at the origin. Write an

equation that represents the image of the line after the dilation.

1
1) y= 5x+6
2) y:—lx+24
2
3) y=—2x+6
4) y=—2x+24
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5. Line ¥=3x-1 is transformed by a dilation with a scale factor of 2 and centered at (3, 8}. The
line's image is

1) y=3x-8
2) y=73x-4
3) y=13x-2
4) y=73x-1

6. The line y = 2x — 4 is dilated by a scale factor of % and centered at the origin. Which equation

represents the image of the line after the dilation?
1) y=2x-4

2) y=2x-6

3) ¥y=3x-4

4) y=3x-6

7. Line MN is dilated by a scale factor of 2 centered at the origin. If A4V is represented by
—

—
¥ =—3x+ 6, which equation can represent Af 'A ', the image of A4W?
1) y=-3x+12
2) y=-3x+6
3) y=-fx+12
4) y=-btx+4f

8. Line MN is dilated by a scale factor of 2 centered at the point (0, &). If A4 is represented by

—_— —F
¥ =—3x+ 6, which equation can represent A 'A7 ', the image of MW7
1) ¥= —3x+12
2) ¥=-3x+6
3) y=-fx+12
4) y=-bx+46

9. The line y =4x-2 is dilated by a scale factor of 3 and centered at the point (-1,-6). Which

equation represents the image of the line after the dilation?
) y=4x-2 3) y=12x-2
2) y=4x-6 4) y=12x-6

10. The line y = %x+5 is dilated by a scale factor of 4 and centered at the point (4,7). Which

equation represents the image of the line after the dilation?

1)y=%x+20 3) y=2x+20

2)y:%x+5 4) y=2x+5
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11. The equation of line /4 is 2x +y = 1. Line m is the image of line / after a dilation of scale
factor 4 with respect to the origin. What is the equation of the line m?

1) y=-2x+1
2) y=-2x+4
3) y=2x+4
4) y=2x+1

12. The line 2x+3y =8 is dilated by a scale factor of 3 and centered at the point (1,2). Which
equation represents the image of the line after the dilation?

2 8 8
D) y=—Sx+— 3) y=-2x+—
) =343 )y 3
2) y:—§x+8 4) y=—2x+8

13. Line y—2x=4 is transformed by a dilation with a scale factor of 2 centered at the origin.
What is the equation of the line’s image?

14. The equation of a line is given by the equation 2x + 2y = 6. Write an equation for the image
of the line after a dilation of 2 centered at (3,0).

15. The equation of line /is y+2x =1. Line m is the image of line / after a dilation of 3 centered
at the origin. What is the equation of line m.
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16. The line y =2x—1 is dilated centered at (4,1). Which linear equation could be its image?

1) y=—2x+3 3) y=—%x—4
2) y=2x+7 4) y:%x

2
17. The line y = gx +3 is dilated centered at the origin. Which linear equation could be its

image?
1) 2x+3y =7 3) 3x-2y=7
2) 2x-3y=7 4) 3x+2y=7

18. The line 3y = —-2x + 8 is transformed by a dilation centered at the origin. Which linear
equation could be its image?

1) 2x+3y=3
2) x-3y=35
3) 3x+2y=3
4) 3x-2y=35

19. The line represented by the equation 4y = 3x + 7 is transformed by a dilation centered at the
origin. Which linear equation could represent its image?

1) 3x-4y=173 3) 4x-3y="2

2) Jx+4y="% 4) 4x+3y="9

20. The line —3x + 4y = & is transformed by a dilation centered at the origin. Which linear
equation could represent its image?

n ,_4 3) ,__3._
y—3x+3 y=-3% 8
2) _13 4 _ 4
y—4x+8 y=-3% 8
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21. Line / is represented by the equation y =4x—1. Emely says that the equation of line / after a
dilation with a scale factor of 3 centered at (2,7) is y =4x—3. Is Emely correct? Explain your
answer.

2
22. Josue believes that the image of y = Ex + 2 after a dilation of scale factor 2 centered at the

originis 3y =2x+6. Is Josue correct? Explain your answer.

23. Line n is represented by the equation 3z + 4y = 20. Determine and state the equation of line p,
the image of line n, after a dilation of scale factor % centered at the point {4, Z). [The use of the

set of axes below is optional.] Explain your answer.

24. Aliyah says that when the line 4x + 3y = 24 is dilated by a scale factor of 2 centered at the
point (3,4}, the equation of the dilated line is ¥ = —% x+ 16, Is Aliyah correct? Explain why.
[The use of the set of axes below is optional. ]
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